Thursday Sheets

Practice Sheet Mild
Converting imperial units

Litres and pints

4 litres is approximately equal to 7 pints.

Use this information to draw a conversion graph up to 12 litres.

Use your graph to convert the following to the nearest half pint:

1. 2 litres
2. 10 litres
3. 12 litres

Use your graph to convert the following to the nearest half litre:

1. 14 pints
2. 102 pints
3. 1 pint



Thursday Sheets

Practice Sheet Hot
Converting imperial units

Centimetres and inches

2.5cm is approximately equal to one inch.

Use this information to draw a conversion graph up to 25¢cm.
Measure your hand span, length of your shortest finger, length of
your longest finger, wrist circumference and hand length (wrist to

middle finger tip) to the nearest centimetre.

Use your graph to estimate each distance to the nearest 3 inch.

Choose the right level of challenge sheet for you- or do them bothl!



